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GENERAL INSTRUCTIONS: -

*Question no. 1 to 15 are objective type questions carrying 1 mark each.
*Question no. 16 to 21 are Very Short answer type questions (with internal
choice in question no. 16 and 17) carrying 2 marks each.
*Question no. 22 to 27 are Short answer type questions (with internal choice in
question no. 22 and 23) carrying 3 marks each.
*Question no. 28 to 30 are Long answer type questions (with internal
choice in all three questions) carrying 5 marks each.



SECTION-A
(OBJECTIVE TYPE QUESTIONS)

Y -1. 34 101 & 1P -3ATSC gHHE & AMYR R Fd fba AT g 2

() 31 () 32 (N33 (Y¥)35

JgiR= (7) 33

OQn:1 The total number of matches in a knock out Tournament of 34 teams.
(@) 31 b) 32 ()33 (d) 35

ANS= (c) 33

Y 2. TR A fagpfa feg o 3 gwafia 8 2

@R @R @I/ @) T

IR = () HISH! W™

Qn:2 Scoliosis is a postural deformity related with

(a) Foot (b)Head (c) Vertebral column (d) Hand
ANS= (c) Vertebral column

Y 3. e ferqgarwawe »

(F) 3H¥E (@)3fST (NGY (9 Far

SR =(P) HH?c

On _3: The main source of Vitamin C is

(@) Guava (b) Egg (c) Milk  (d) Banana
ANS=(a) Guava

Uy 4. Ricts Hudwe fra s fuears 2

(@) ddidge (@) Ak flheaw (1) gga=ifed (9) 7fd
SR = () T

On:4 =Sit and reach test is conducted for

(a) Flexibility (b) Motor fitness (c) Endurance (d) Speed
ANS= (a) Flexibility

WY 5. e & diax Frau & W Fgd 7 |

(@) STedl &1 fAgw @) foear ufafesar o1 fAgq

@ o fFaa @) 99d w1 faE

IR =(9) febar ufafear &1 fAgw




OQn:5 =The Newton’s third law of motion is also known as
(a) Law of inertia (b) Law of action and reaction
(c) Law of momentum (d) Boyle’s law

ANS = (b) Law of action and reaction

Uy 6. WIcad uRkrer faftr foow ¢xr o fawfRia g32
(@) WeT (@) AR (1) HRd (9) 370S

SWR= (F) WS

0On:6 =Fartlek training method was developed in

(a) Sweden (b) The USA (c) India (d) England.

ANS = (a) Sweden
UH 7. (ceeeennn. ) P faRiy siieifre & WITYS & =4 H ST 94T 3|

On:8 =Sprain is the injury of (................ )

Ans: Ligament

TH 9. (cerreeernnes ) 3rpdT M § ford HieH & arg o forar T gwar g |
3= g9

on:9=(............. ) is the only Asana which can be carried out after meal also

ANS: Vajrasana

WY 10. ST TR HT Y& =9 i 87
SR =T o YT & HiaR Wiss UriieRT 3R ufawasl &) sgrar & |
0On:10 =What is main objective of intramural activities?

Ans: To promote voluntary participation and competition within the same
institution.

Y 11.39 fapfa &1 ¢ s foe gsaart 9ga suarit g
SR = AP -




Qn.11 Name the deformity for which horse riding is very useful.
Ans: Knock-Knees

UY 12. Fadt SFRY-HT H P19 g ghar g2
SW=aY IV Y HH IF & § |

Qn.12 Who is affected by Green Stick Fracture?
Ans: Children younger than ten years old.

(fHB YT/ PR (ASSERTION/ REASONING)

A FYTRETT 31| TP B AfUFYT (A ) SR GIR B R (R ) F FUH
S2ItaT 4T 8 | gl BYT 'ﬂﬁﬁ | There are two statements which are stated below
and labelled as Assertion (A) and Reasoning (R). Choose the correct answer.

Y -13 AfHBYT (A) — AT IRR 3R IY R S S a1 Tl BT 3T oig
gifA®! Hearal g |
PRI (R) - ©Id TiHd! Raasal & UaRH # YUR HI- § Tgrd S § |

gl fapaa g4 | SR -

3N YHYF (A) T8 § Afbd HRUI(R) TAd ¢ |

) 3B YT (A) TAd & QAfPT BRUI(R) FeI 2 |

) (A) 3R (R) G &1 € 3R (R) ; (A) Bl e RS BRATG |

@) (A) 3R (R) T W& Qfh (R) ; (A) b1 HET RS TgT el |

W= ) (A) 3R (R) GHI TGI § AMBA (R) ; (A) BT Ul HRSAT Ta] B |

Qn.13. (A) ASSERTION: The study of human body and various forces acting on
it is called Biomechanics.

(R) REASON: Biomechanics helps in improving the performance of the players.
Ans: select the correct statement

(@) (A) is right but (R) is wrong

(b) (A) is wrong but (R) is right

(c) (A) and (R) both are right but (R) is correct explanation of (A)

(d) (A) and (R) both are right and (R) is not correct explanation of (A)



Ans: 13 (d) (A) and (R) both are right and (R) is not correct explanation of (A)

Y 14 . AfHBYT (A) : IS AT 359 &I Fdcdc o Y HaT orar gl
PR (R) : §I. TH.375. Bl AHSIeh Fdcaic 7 1830 -1850 & &1
R frar / Sudad FY=T & YR W &t fawew g /

3R —

3 fYHYF (A) T&t & dfbd SR (R) Tad g |

) 3P UT (A) TAd § AP PRU(R) TSI |

) (A) 3R (R) SHT FET § 3R (R) : (A) B Tg! ARSI AT @ |
) (A) 3R (R) SHI &l € i (R) ; (A) P GEt U 71 el |

IW= (@) (A) 3R (R) S Jet & Afb (R) ; (A) Pt T AR Tal BT |

Qn .14. ASSERTION (A): Body Mass Index is also called as Quetlet Index.
REASON (R) : BMI was developed by Adolf Quetlet in 1830-1850.

Ans : select the correct statement

(@) (A) is right but (R) is wrong

(b) (A) is wrong but (R) is right

(c) (A) and (R) both are right but (R) is correct explanation of (A)

(d) (A) and (R) both are right and (R) is not correct explanation of (A)

Ans: 14 (d) (A) and (R) both are right and (R) is not correct explanation of (A)

uy 15. AfUSYT (A) : Bp! Teh; I uleor ol & T 5518
PRUT (R) : 394 aiftfes ufRreror aerr & g+t 52 Itarg i 8id §
ST YT & MYR W A1 fawed gHT /

3R —

3 UHUT (A) T8 § dfbd PRUI(R) Tad @ |

q) 3IMBYT (A) TAd & WfbT BRUI(R) eI B |

) (A) 3R (R) GFI T8I § 3R (R) ; (A) P UG ARSHT IR ¢ |
@) (A) 3R (R) T T&l & Afdh (R) ; (A) P! Tg! ARSAT -Tat el |

S =) (A) 3R (R) T TG § 3R (R) ; (A) P TGt AR FHRaAl § |

Qn:15. ASSERTION (A): Macro Cycle is the largest of all training cycles.




REASON (R) : It includes all 52 weeks of the annual training plan ..

Ans: select the correct statement

(@) (A) is right but (R) is wrong

(b) (A) is wrong but (R) is right

(c) (A) and (R) both are right but (R) is not correct explanation of (A)
(d) (A) and (R) both are right and (R) is correct explanation of (A)

Ans:15 (c) (A) and (R) both are right and (R) is correct explanation of (A)

SECTION-B
(VERY SHORT ANSWER TYPE QUESTIONS)

Y 16. §. TH. 313, T 8 SHP! TUMT S &1 A forfae |

What is B.M.Il. Write formula to calculate it?

TN 16 =d1. T, 3fTS. : B.M.I. = Body Mass Index

STHSHE (BMI) T ST AT §Sa, T 9aTaT § fob 3Udb YRR BT IS 3MUS! dars
& 3R 31% g T g1 U a8 U U 3P IR ! ddls 3R doi BT U
g1 ol Tohdl & | WPIHRT: fhel Safdd &1 IRR GogH Jadhid ao 3R SHaks &
AW H TR & Hierr RIfd 8 | 98 Jfad &1 [afie 9o & SfaR Jillehd Rl gl

BMI & foTT T = T9H (kg) + (T8 x $dTs) m2 (kg/m2.)

gfe BMI &t AT 18 ¥ HH 31T, d 9o IH0 I HH g Ife BMI &t AT 18.5 I

24.9 & ST 3T, A YR doid IHI g1 TS BMI Dt AT 24.9 J 1eT 34, o

%Wﬁﬂﬁ%ﬁw%l gUb HRU BIC (Suile], HIAR, SRS DI Ul g1 Jobdll
|

Answer:16 = B.M.l. = Body Mass Index .BMI is a weight-to-height ratio that
measures a person's weight. The BMI is measured by multiplying the body
mass by the square of the body height and is expressed in kilograms per
square meter (kg/m2). In broad terms, a BMI of under 18.5 places you in
the underweight category and between 18.5 to 24.9 you are deemed
normal. Above 24.9 you are counted as overweight.

(OR) / 31Ydl

Hddd & Il UHR S-H1 F §2 What are different types of

equilibrium?



IWR=Uqad MR T ®I3 @1 1 a1 f3=m & $ig ulRadq T8t &t A3l
T HF A UPR G -
1) WAfdP JgerqT Rfae Igad I drd IRR & RM I e 84 9 7

2) AR Tqad : TaRid Iqad ¥ iy Iddfad an] 3R 98d 9d gRl
fAfHa srafkafad @xor o Y 1T & IRR A 5

Answer: Equilibrium is a state of body where neither the internal energy
nor the motion of the body changes with respect to time.

1) Static equilibrium: Static equilibrium is a state where bodies are at rest;
2) Dynamic equilibrium: Dynamic equilibrium is a state where bodies are
moving at a constant velocity (rectilinear motion).

Uy 17 affe @dl § 9 9@ fH9-fF9 yRdg Afgar aast 1 ues

SidT %? How many Indian women sportsperson won medals in Olympics?
Write their names.

31e: 17

1. %019 Aoyt RS-t e # 2000 HUIH AT (Karnam
Malleswari) = JefifGe § &g Ugdh Sitdl, ST 3fidfUe Ugd Siia- drelt ggal
YR Higar et &+ |

2. HTEHT AgdTd HRd &1 dsfHied fIars! Arg=T Agard 3 91d 2012 & @A
3icifUe ¥ <=1 & i &1 U Sit |

3. A8 BIE I 2012 & T Siicifts & U 3R HRAT Afgdr SR

M.C. B BTH 3 S Yedh 30+ 19 foar o7 |

4 W dt RiY : 91a 2016 & RO Sficife o IR a0 Riveg ssfiieq
GiAIRT § Riear Hgd SitdT |

5. greft Afere: HRdg Afedar ygaad wiel Afd® (Sakshi Malik) =+ I1d
2016 & AT 3Ncife H Hat H HIYG UgH Siidl |.

6 WRTETS I, <ladl 3Micifue 2020 H gefaften # HR1E18 91 (Mirabai

Chanu) A I5Id Ug® Sirdl.




7 AaeF SRIMeH: <l HIdfUeh 2020 H daa sRe 3 Gadbarol o

B UG Sild.
8. dt. Y. Riy : T 3MifUer 2020 7 fave River Ssfiie ufaaifiar o
DI UGdH Sild |

Answer: 17 Women participated the first time in the 1900 Olympics.

Name of Indian women sportsperson won medals in Olympics:

A) Karnam Malleshwari: In 2000 Sydney Olympics Karnam Malleshwari
was the first Indian woman who won a bronze medal in weightlifting.

B) Saina Nehwal & M.C. Mary Kom: In 2012 London Olympics Saina
Nehwal won bronze medal in (Badminton) and M.C. Mary Kom won
bronze medal in Boxing

C) Sakshi Malik & P.V. Sandhu: In 2016, Rio Olympics, P.V. Sandhu won
silver medal in Badminton and Sakshi Malik won the bronze medal in
wrestling.

D) P.V. Sandhu, Mirabai Chanu and Lovlina Borgahain: In 2020 Tokyo
Olympics, P.V. Sandhu won Bronze medal in Badminton, Mirabai Chanu
won Silver medal in Weight lifting and Lovlina Borgahain won Bronze
medal in Boxing.

3[YdT (OR)

i fafrear | smuesT Far Sfium 82 What do you mean by First-
Aid?

IR = UYfe Fafedr: feddt iR a1 uraa afed &1 Hafig fafear e
U B3 I Ugd of T SMUTadble= ¢uHTd a1 SUIR_UTdfHes i (First
Aid) FEd B | STDT I HH T HH TIgAl § 3+ UTRIT HIAT 8l g b
eI lad Bl ID ST B of (U H a9 H @ arel 99 § HH I

&Y IHIHE &l

Answer.

First aid is the first and immediate assistance given to any person
with either a minor or serious illness or injury, to preserve life, prevent the
condition from worsening, or to promote recovery until medical services
arrive. The aims of first aid include preserving life, preventing injury from



getting worse, aiding recovery, relieving pain, and protecting the
unconscious.

UY 18. ATSHIPISATeH UTATH T & UP IS8T ¢ | What are Isokinetic

Exercises. Give an example. Write in detail about strength improving
methods isometric, Isotonic and Isokinetic

IWR18 =TS BIZATCD UM : AFIIBZCH TTIH P FYRUM 1960
P SUD b 3Id T o= IR gRT ARG @t 715 ot | gqbEAfes o1 3 §
“JUE T aIfE smuet AU R dHeEe & RME UE o d I
Rips|

3gIbIeAled I (Isokinetic exercise), Tdh UHR P XY ¢l
TRRURS gl 390, $© [ORY UHR &I TS AR &7 ¥Hd fdbar
ST 1 8 MU d¢ Hheld I bR ds UBR DI ¢IcHE & (o SHIATA &1
STl €1 39 A=A H 3y ghsiEe & 1Y 3MMUd Wi dad R i e fear

ST g1 AT+ s 3 A= sue! Tie & 91y 3Ues divM 8k 39 &I it deid
HRd U SUDH| TRRATSS H HGE dRal 8 |

JGIe U

1) 3139 - WhicT
2) fa-31g

3) &I T

Answer:18

Isokinetic Exercises: Those exercises in which speed remains same
throughout the range of movement. It can also be called as a combination
of isometric and isotonic contraction. Isokinetic exercise uses a machine
that controls the speed of contraction within the range of motion. Cybex
and Biodex machines provide this kind of workout, but these machines are
generally used by physical therapists and not readily available to most
people. Exercise which can be found similar to isokinetic exercise in sports
activity are:

1. Ice skating

2. Chin ups
3. Rope climbing



Y 19. WG ATWET T 3T T JHIA 87

What do you know by Food Intolerance?

IWR= U W R & o oo @ verdf & vam o W 8t § iR
3P IR R VRE JHIG @ g1 afe smue! 1ieH & ufd srfewd &, Y
IR R I HISH TT U &I TH S O °el a5 3MMUD! 76T fexars ad 8
S Ufd STy Srafew] & | AErd d&on o =MiAd : off fimern U 8 &g a1
Uo7 1 o, 3ee! &l IH § Sa- a1 TS R | &xd, &eal ,@dl IR

b T AT gl

Answer: 19

Food Intolerance: A food intolerance means either the body can't properly
digest the food that is eaten, or that a particular food might irritate the
digestive system. Symptoms of food intolerance can include nausea, gas,
cramps, belly pain, diarrhea, irritability, or headaches. The main cause of
food intolerance is the complete absence of enzymes responsible for
breaking down or absorbing the food elements.

Lactose, a sugar found in milk.
Casein, a protein found in milk.
Gluten, a protein found in grains such as wheat, rye, and barley.

Uy 20. gAaiHe & IRM razas JiAfaal & gt 131t |

List down the important committees during tournament.
JTR: 20=
1) 3o IrHfd |
2) farar affal
3) UaR il
4) deb-iiht FIAfd |
5) SNTd FiHfd |
6) 3 TfAfdl
7) URag- gfafdl
8) STeTqT FiHfd |
9) b TiAfd |



10) RE¥HR Td GREHR FiAfI

Answer :20

1) Organising committee.

2) Finance committee.

3) Publicity committee.

4) Technical committee.

5) Reception committee.

6) Accommodation committee.
7) Transport committee.

8) Refreshment committee.

9) Purchase committee.

10) Awards & prizes committee.

Uy 21. Wl A SATHTHD AT FT 82 What is aggression in sports?

SR 21 =STHTHGT: Jal H AHHEGAT H 9 TR WA 8Id § gl Afad &l
SR AR P! dIc UgaMH P Bidl §, S8l ik & 39 qdgR ¥ 9+ & forg uRa
foaT STTaT §, SR 9 oMW dR WR are a1 Ufafhamid & U # aiiigd fhdl ol 5 |
3{THTHSH T Uh Ul HGER ¢ oI a8 Gk Bl JHUH UgaHT a1 Iiad &l ¢,
Sl 39 A€ & SUOR ¥ §94 & forw URG g1 §1 (1) TAguh IRIRG 4@
TAIaRIH® J@aH UgaHT| (2) aT: TR-3MhTHS A&d &1 Jisl H SAThHGdl UG Rid
HAT (3) @RI fhdl & I &) U oA & forg 9y IRING a1 Aifasds 9 &1
JUIT |

Ans: 21 Aggression in sport: Aggression in sport involves those
occasions where a sportsperson has the intent of hurting his
opponent. In sport, aggression has been defined into two categories:
Hostile aggression and Instrumental aggression. Hostile aggression is
when the main aim is to cause harm or injury to your opponent.
Instrumental aggression is when the main aim is achieve a goal by using
aggression. A few examples of aggressive acts: acts of physical violence.
Shouting, swearing, and harsh language

(SECTION-C)
(SHORT ANSWER TYPE QUESTIONS)

Uy 22. fafd yepR & 99 IH| Bt Al BT I DY |

Mention various Soft tissue Injuries




SR 22. A 3dd &1 dIc 98 dIc g ol @dT, femmie a1 789 &1 Joa ugdrd

g | RA SHdd! ot 39 diel § AiguflRml & wed @m9) 3R ¢+ ([l o
gigal ¥ SIgA e SHdd) | Wed (e WA 81 § | 3H SIHd SHdb die: 1,
2qma, 1 71 IRR & fhdt T e & 3ifd UaivT o34 W 81 Tl 8 | HIHA SHdd
TIc & BRI GG, Jo, i AR B T B B THT 81 S 8 IRR DI | TR SHdd]
HI IS, SN Tie, A 3R AqalREl § R, s=i o o g1 i Iy, o9 3
el B U TR TR & B obd &

faf¥e ypR Bt FIHE SHadl B EIC
A) TH Tie- 3 IR R TH 91 (Gegy-) & 0 § ofFl SIdl §

B) ¢S IMISie - <84 T JoiH, Sid- IT Y& x|

C) Iufsfed - SNS! & MU &1 gfgal, HIgUfRR iR ¢S &I UgRT ¢ areit
BIel, T el ¥ 1:t Aferat 1 JHar|

D) dHTd &1 A1 - HIHA Sdb! b TP &F TR HRI d1d o IRUMRGR=Y ¢

3R il gl Bl

E) fe=ma - AUl a1 e A dic o 3R it f9d, $oR 9 a1
3P IUANT & HRUT glal ol

F) A . A9 WS 61 [T a1 ge ] | |rgeee 3! iyl &) U Tl
I SISd &1 o8, ger 3R Harsdl Yoy 311 1 g |

Answer :22

A soft tissue injury is any injury that causes damage to the skin, ligament or
tendon.The most common soft tissues injured are damage of muscles,
tendons, and ligaments. These injuries often occur during sports and
exercise activities, but sometimes simple everyday activities can cause an
Injury. Sprains, strains, and contusions, as well as tendinitis and bursitis,
are common soft-tissue injuries.The result can be pain, swelling, bruising,
and damage. Soft-tissue injuries are classified as the following:

1) Contusions (bruises)
2) Sprains
3) Tendonitis



4) Bursitis
5) Stress injuries
6) Strains
SIYdT (OR)

IR 22 3RY-WIT T § 9P USRI WR =Tl B3 | What do you mean by

Fracture? Discuss the types of Fractures.

IR= fHdt oY & g a1 IqH R USH B RRYHT Fed g1 Beal R T I
T Y I T Fed! AH F A7 AY-HER TG 3= A7 & HIRUT ST BT Jbal
¢ T8 U@ sy Rifd 1 iR Thaar: Tl o1 SRl ge| quf har: 5 1
quf U § ged1 e SR 98 ol a1 &l ¥ 31w ghel H e 81 ot g1 RR
R 831 & 22 §URR W & 3R 2 § ok o ove § 7 et e B
faRfid e B@%@@ﬁﬁ%dm UH U BT 8

. SFRY-HIT P UPR:

(1) ATYRYT SFRY-HT: T TSR & HRY-4oH T Haa Y gt el g aul
A-UTY & FHad! &I His A &ifd 78 g9 urch g

(2) T SATRY-HT 3T UHR b HRY-USH T ge- Tl 3R &1 U R
HIY TUT T B BISHR dTeR Hed Srar 8, ForIs Ay yHifad sif

fagd g1 SITdT § T IATU[3H GRT °1d & Weh{Hd 81 B! 31T X8 5

(3) Sifee SFRY-HT: TTH Y g W 3M-Ur B SIER-a1 Al Tt 31
DT 3T Bhg g AT 3NfS; BT U1 HR ool ¢ | Sfed ¢e 3Hd TR
grde Y RG] Udhdl §; 31d: SUHT dpTd IUTIR TP § | 3P IR
AU &b HRUT YT 3 ugad fafe T difed safad ! fgam-gaq W
YT RIFTANT B TR YR 3fRY- 4o ff Sifed s/ # ufeafdd gt
ST g | 39fore S1fRY-HSH & A7 &1 Wi a9 wd fafligae &1 ot anfeul

(4) SgEUS! SAFRY-AT: STH YUIfad R TR 1Y & T ¥ 34fAFH ¢ I 5 |
(5) TS IFRY-UIT: TH ¢l 3 Y & RR T=IS Bt IRE Th-ge | g
SITd g

6) Pl STRY-UIT: T UPR &I AY-USH Ur: Sl B adielt il o gielt
| U ITRYAT A AT WR AT dll b SiTclt § AT S7H &R US Sl g




3YdT (OR)

Answer: 22

A bone fracture is a crack or break in a bone. Bone fractures usually result
from a high force impact or stress. People with osteoporosis or bone

cancer may experience a fracture with very little impact.A bone fracture is
a medical condition where the continuity of the bone is broken. A break in
the bone that does not damage surrounding tissue or tear through the skin
iIs known as a closed fracture. On the other hand, one that damages
surrounding skin and penetrates the skin is known as a compound
fracture or an open fracture.

Classification of Fracture:

1. Simple fracture: A fracture is simple when only the bone is broken with
no external injury to the skin.

2. Compound fracture: When the bone breaks causing injury to the blood
vessels, it is called a compound fracture.

3. Complicated fracture: When the bone comes through the skin, causing
injury to any internal organ, blood vessels, muscles etc. and a deep wound
it is called a complicated fracture.

4. Comminuted fracture: When the bone breaks into many pieces it is
called Comminuted fracture.

5. Greenstick fracture: The bone partly fractures on one side, but does
not break completely because the rest of the bone can bend. This is more
common among children, whose bones are softer and more elastic.®

6. Hairline fracture: A partial fracture of the bone. Sometimes this type of
fracture is harder to detect with routine X-rays.

7. Impacted fracture: When the bone is fractured, one fragment of bone
goes into another.

8. Longitudinal fracture: The break is along the length of the bone.
9. Oblique fracture: A fracture that is diagonal to a bone’s long axis.

10. Spiral fracture: A fracture where at least one part of the bone has
been twisted.

11. Compression (crush) fracture: Generally occurs in the spongy bone
in the spine. For example, the front portion of a vertebra in the spine may
collapse due to osteoporosis.



12. Stress fracture: More common among athletes. A bone breaks
because of repeated stresses and strains.

Uy =23. WIETd UERd fApfaul $1 dren #3 | SRhINYg $ SR T
YTl &t RS B | Explain spinal postural deformities. Explain
causes of Kyphosis and precautions to avoid it.

STR: 23 = 3¢ DI g3 H aebdl f[APR (Curvature disorder) : 9§ 3¢ &1
o aehal I ¥ P Il €, < 39 3¢ B g8l Bl A [oTS ofdl @,
R T =7 TR & [dPR 309 81 &:

. WIS : 56 3¢ &1 81 Begl b HWR, Ule & Fad i H 3fax 3 3R
(A ¥ 3Hf®) S Sl ¢
. PABIRM : 39 ¢ T & 14, e & S TR d a6 &1 3R (@@ = 9
31f¥ep) Jg STl &
. m:wﬁgﬁe—gﬁwﬁﬁgaﬁ%w-mm@-&wﬁ
|

PIRBIRMG:- SREIRY H U3 &1 HW BW1 oM B SR b 1l 5|
FHREHINY 0c & HUI T F1 SR, oM 3t 3R MATHR 8T 813G
ATl H, PRHINY IRR ¢ & g3l § HHOIRI & HRU il g, oD
HRUT d d Il § 1 ¢ Sl & | THT & 1Y G B g8l B! [APpfd a1 3G &1
ﬁ;%g@%%wlwlme%%ﬁmmﬁm%@ﬁﬁ%ﬁé
|

W e g9 aret giedl (@Re®) TH WH I W9 Reisy & g feadt
¢ | FIBIRKT d9 BT & 99 Ulo H HRIS® 3 TER & 3HR & gl od g |

PG & FROT:
. TH T OB & SRM ST HRSB137 P IS (SIS HTIHIRM)
. §3d THY WIS Ga1 a1 YT (AR HIahI)
. TRE SR, U W FRUfS s SRy R &1 3ThR fagd g1 o

a1 e (SRA IR
. SMIRERT  SNRCAURIRR ,T1ZT UHHU , TZT SR

PISHIIT B FIGUTFAAT : 307 3T & Ufd SITRed TeHR 3R 3T his
DI TEUTA PP UREA [PHIRIT DI AbT ST Jobal g1 3AUD! U T DI
TR BT QT FHd 96+ 4 9 | Tgl a7 J 96 - A 98, T8 gHfad
&Hd gU fb U1 Dl IRT TR el |




Ans : All spinal deformities involve problems of the curve or rotation of the spine.

Common adult spinal deformities are Scoliosis, Kyphosis, and Lordosis.
Kyphosis involves the upper back curving forward. The condition can
create the form of a hump.

Causes: Kyphosis may be caused by poor posture during childhood or be
the result of abnormally shaped vertebrae or developmental problems with
the spine.

Symptoms of kyphosis:

Difference in shoulder height.

The head bends forward compared to the rest of the body.

Difference in shoulder blade height or position.

When bending forward, the height of the upper back appears higher than
normal.

Tight hamstrings (back thigh) muscles.

Precautions to avoid kyphosis:

1. Maintain a healthy posture.

2. Muscles in the abdomen and back should be strengthened.
3. Maintain a healthy body mass index (BMI).
4

. Bags, schoolbooks, and supplies should be carried in a robust backpack
or roller bag.

5. Regular exercise.

31T (OR)
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Explain development characteristics during childhood.

TR -23 I 6 Y F 12 TY I 3T & &g B A DI STcATaRAT Hal
ST 8 | i 39 3fafd § arere urufie faemer &t Rl UR™ &1 8
SYferE RITIRE! 39 IR faereg 31 (Elementry School Age) W Hgd
g | 39 39y ¥ S1a U THi SHfUS g & RO $B AN 30 Wi SawT .

(Smart-Age)H FEd &1 3T TR H I101e W-Ba, HIT-4lS, ITA-PS H o)
g & RO UN: ATURATE Igdl g

CIRICEIG ARG EaRs I EAT ER GILY




TRIRD, ARy, 1T, YT, quT e fabr o1 <fP 3 srearaw
B! P UHE fIATATS 3iTifed TRqd 1 TS §

1. YRR 9T A® foera § RRen

STearaRyT & RS quT AFRIS ey & fRRar o1 911t 8 9 (Ross A

IITaRT &1 firear ufuedr (Pseudo Maturity) &1 1A BT & |

2. ATFRT® graars § gis

TTITaRT & SR 1A B ARG Gradrel & IR dafs gidt Bl 81 ared &

Fae-T=MadT, Tefie o, WRURIfGa gt dehRifad 3ife # yafe g gt 3|

3. forzmaT &t yaeran

dlcqlq«ﬂﬁqmmﬁmmmwﬁ?ﬂ%la%ﬁ:mwg@r%wumﬁm%

39 T T TRE-ARE B BRI U BT el g |

4. JTAFHRET B Y=

SITaRT B dTefe QAGTaRIT S JHH 301 R 33T 81 I8dT 8, 98 3+ aufaaqid srd

SR AT AT, T Ug-HT, 16 d & (o AR g1 TG W8 HRAT TR FR Gl ¢ | 39

ST B ST § SR 38 TG bR St et 21

5. TGS Pl § B

JTegTaRT H d1ch Qd-lld—lcb BT H B O I 8| ASP SiE H BTH B 37Ydl bl

BTG T 3 ol o ¥ $© W TS T O BT A 3T DI TG SgHT B & |

asfear R, T, mgm@éﬁwﬁ%ao‘ﬁﬁmﬁﬁvﬁréﬁw%ﬁ

6. QTATRT® aYUT Afd® Ui &1 faw™a

dlcqlqaﬂff D ‘ER?JTEI@TL[% WWH&T%W%W%HW HTHI YT Hdid

Hdl gl forad GRaEY SHH ST HHIND del Afdw o S TEANT, SHFCRY,
SR 3TfS T faeT g @I ]

7. Hﬁ%ﬁwﬁraﬁm

2 IR H 1 B Wfed UgRi Ued Bkl 81 98 U1 3ifeier & 3iferes THg g deta!

& TIY HdId BT ITedl 5| ST bl 7 fhell g &1 9ew § il gl

8. |UE g

ST § 1, RadH! 3M1E &1 AU H- | o=y 3 ad g1 |

Ans :23 Three stages of childhood are:-

Early childhood (birth to age 5), middle childhood (ages 6 to 12), and
adolescence (ages 13 to 18) are three major stages of child development.
Children may hit milestones associated with these stages a little faster or
slower than others. Physical development in early childhood includes gross
and fine motor skills. Gross motor skills are large movements such as
running, jumping, and climbing that use large muscle groups. Fine motor
skills are small movements such as buttoning, zipping, and feeding that
requires hand strength and dexterity.

Ans: Developmental characteristics during childhood:



(A) Physical development: In early childhood teeth start falling and
permanent teeth start growing. The growth in girls is more than that in boys
in this period. Increase in height is slow because muscles and bones
develop during this stage.

(B) Intellectual development: By the time when the child is about 12
years he develops language skills. He starts thinking reasoning
remembering etc. and keenly observes others. Interest in various things
keeps on changing and exhibits love towards nature.

(C) Emotional development: The children become emotionally more
stable. At this stage sentiments and complexes are formed. They are
innocent and remain under control. They start feeling conscious of their
acts.

(D) Social development: Children develop a good and bigger circle of
friends. They love to play with their peer group. Children develop more

interest in team games and love playing in their own groups.
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what are nutritive and non-nutritive components of diet?
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Ans :24

(A) Nutritive Components of a Diet

Food is a mixture of various substances which are essential for life
whereas nutrition is a dynamic process in which body is made healthy by
consumption of food. The various components in food are Nutritive
components

1. Proteins — It contains nitrogenous compounds which helps in repairing
the tissues and body building. Its sources are Animals — meat, fish, egg,
milk, cheese. Plants — pulses, nuts, beans, oil seed.

2. Carbohydrates — provide energy to the body. Its main sources are-
Starch-wheat, rice, potatoes, etc Sugar- honey, sugarcane, milk,
etc. Cellulose -fruits and vegetables

3. Fats — It provides more calories, produces heat and potential energy,
and provides protection to vital organs such as heart, kidney and
intestine. Sources - Animals — milk, butter, cheese, egg Vegetables —
ground nut, mustard, sunflower, coconut

4. Vitamins — these are complex organic compounds which act as catalyst
in various body processes. Vitamin B and C are water soluble and Vitamin
A, D, E and K are fat soluble.

5. Minerals — They are minute quantities of chemicals, vital for smooth
running of the body.

(B) Non-Nutritive Components of Diet

1. Fiber or roughage — It is the dietary fibers help to clean out the
digestive track and bowel and prevents infection and diseases. Examples
are fruits and grains.

2. Artificial sweeteners — It is the best substitute of sugar less calorie and
carbohydrates. Water-prevents dehydration, helps in the removal of
byproducts of cell metabolism.

3. Colour Compounds - It makes food more attractive and



presentable. Flavor Compounds — It develops better taste of the food.

4. Plant Compounds — They have non nutritive values and also contain
colors and flavors.
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Ans:-25

Total no matches = Total no of team -1 = 24-1 = 23.

Total no. round = 2x2x2x2x2 i.e. Digit 2 report 5 times = 5 rounds
So total no round =5 round

Total team in upper half = Total no of teams =24/2= 12 teams
Total team in lower half = Total no of teams =24/2= 12 teams

As the total no of teams are more than 16 so we have to divide teams also

in quarter. Teams in each quarter: 24/4 = (Q=6) & R=0
Total No bye= next power of two-total no of team = 32-24 = 08 byes
Bye in upper half =8/2 =4

Bye in lower half =8/2 =4



Round | Roundll Round Il Round IV Round V

1 Bye 2
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WY 26 §H ITHI TS YIS URIE01 $1 H 9Pd 82 TR | quF 3 |

How can we conduct General Motor Fitness Test? Explain in detail
HTHT MH® Gf¥ (General Motor Fitness Test) & TII&UT &1 g0 HR1?

31: 26

fordt safad gRT IR febaredi a1 afafedy ol & ot grFgar = e
gfY FHedrd g SFRd Aex TAferd! e (i) Ueh AMdIdd UL1efur g foraes




IUANT Tt afed &t dipd, Iuaar iR Iu-9g o fafvy &= o gur
IRING &Harel o1 ATYS & forw fvar smar gl

1. TH® IS TRiemr wfET s %a,
2. S dre,
3. AT 9 B

1. W& 8 T (Standing Broad Jump): HaH H Th <H 3 13-
(Take off line ) & & ST & | UfTHTT 30 @9 TRT & A& 3 59 &l
3R T g G & el %ﬁﬁ&mﬁaﬁﬂ‘raﬁﬁ&nﬁtﬂ%wﬁ%
qUT el I HGHR THell Fa & (Long Jump Pit ) " Peal gl 3N o
(Chances ) lﬁa; firaa %I TP B NIES! & Aodld, IR Bl S HTT
B, I DI AT IaT 8, &9 Il &G (Highest Jump) & Rbls
(Record) foar olldl %I

Standing broad jump
2. RS @8 (Zig zag Run): UfaHmft &1 M (go) &1 Hoba A &t
T T8 TY (Track) W ASHR A TaHR 418 B [T AR Dl T
ST UAURTT B T Tab R B4 H o I fou Sem|

16 Feot ™

Zig-Zag run

3. Af$H 9 B (Medicine Ball Throw): G 8T # U s &, Ufaumh
3 A8 & g H WST 8IpR §1d B! et Y W Ybadl g | T UfaHTlt




B A AR 2T 91 &

=Y

Medicine ball put

Answer 26:

Harold M Barrow selected 29 items to build the General Motor Ability
Test Battery in 1954, which he did over about 223 college men. These
items were chosen to measure eight factors of motor ability identified with
the help of expert advice.

General Motor Fitness

General motor fitness is an athlete’s general ability to perform different
motor skills without getting too much fatigued. General motor ability
consists of three items designed to test the motor ability of school and
college boys and girls.

1 Standing Broad Jump: This test measures the explosive leg power. In
this test, the student stands behind the restraining line, with feet several
inches apart and the toes pointed straight ahead. The student should swing
the arms forward, extend the knees and jump forward as far as possible.

Standing broad jump

2. Zig—Zag Run: The materials, required are a stop-watch, five traffic
cones, floor measuring tape and floor area of 30 feet by 50 feet. Cones are



placed on the floor in a zig — zag manner. The objective is to measure the
agility. The examinee or the student stands at the starting point. On the
signal ‘go’, he/she runs the course without touching the cones. The student
continues to run the course three times and each time, the time is recorded
with the help of a stopwatch. The score is the time recorded to the nearest
tenth of a second. If the cones are moved during the run, then the trial is
retaken.

Zig-Zag run

3 Medicine Ball Put: The material required is medicine ball. The objective
Is to measure arm and shoulders girdle explosive strength. The student is
required to put a 6 pound medicine ball as far as possible. Three trials are
taken and the best score of the three is recorded. For boys the explosive
strength throw test is for 3 kg medicine ball and for girls it is 1 kg.

Medicine ball put

Uy 27. YfAARar & 4R A1 &1 JAR $34 arent A & o g ate

3| ‘ﬁ[ﬁlﬂv‘[ PT 9ui $3 | Discuss the role of a Psychologist for a team.
Preparing to participate in competition.
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Qn;27 Discuss the role of a Psychologist for a team. Preparing to
participate in competition.

Ans 27 : Today’s athletes experience a variety of pressures and stress
when it comes to sport performance. Many athletes, teams and coaches
are taking advantage of Sport Psychology Professionals to aid them in
achieving their performance goals. Ideally the Sport Psychologist works
in concert with the coach. Integrating sport psychology into the coaching




aspect means both the coach and athlete are trained and aligned in the
skills being taught. Sport psychology supports athletes from two main
perspectives:

(1) To provide assistance in mental skills training for performance success
(2) To provide psychological therapy to deal with underlying issues that
affect the athlete or team.

Strateqgies used by Sports Psycholoqgists:

. Goal Setting.

. Visualisation,

. Better focus and comfort under pressure.

. Recovering from Injury.

. Gain confidence among unsure athletes.

. Learn to cope with setbacks and failures.

. To track the right areas of the strength for athlete’s sport.

. To ensure development of teamwork and communication skills.
. To develop positive mindset and recognise irrational thoughts.

10. To improve or adjust motivation for ideal performance.

11. Boosting confidence after injury.
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(LONG ANSWER TYPE QUESTIONS)
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T g9 @t fbgt d9 gfidaal @t sarem ST | Explain any three

strategies to make physical activities accessible for CWSN.
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Answer:28: For CWSN, space should be approachable for people having
physical disability. The area for the physical activity should be limited.
Space for activities should be disturbance free (noise, heat, cold, texture of
floor, audience etc.) It is always better to start with indoor space.

# Strategies to make physical activities accessible for CWSN:

A) Fun activities for children with Autism: Craft activity is fun for
everyone, the opportunity to explore, colour, shape and sensory
experiences can stimulate attention and faster calmness.

B) Adaptive Physical Activity for Students with Cerebral Palsy: When
putting adaptions into place, the planning, equipment and environment for
physical education classes should be such that ensure enjoyment and
success for a child.

C) Selecting and Adapting toys and Games as per their Interest: An
Adapted toy, can provide children with disability the same play
opportunities, simplify the rules of the game and setting up the play
environment.

D) Different Methods of Instructions: Teachers must adjust and vary
their approach based on the skills and unique learning needs. Instructions
should be focused on the abilities of each student. Teacher must
accomodate many levels of functioning and learning within each group of
students.

E) Universal Design for learning: The universal design approach
provides a framework for creating instructional goals, methods, materials
and assessment that work for every one.

F) Consider different Approaches to Mobility: Making outdoor programs
accessible for disabled. Once you gain some regularity in getting children
out in green environments you will start seeing the results in their level of
self-esteem focus and participation in social settings.

G) Arranging Positive learning Environment: Children who have
additional needs often require the environment to be adopted to maximize
their participation in the planned manner.

[S1YdT (OR)]



faRy smazg®ar gt Tl & foe mifve nfafaftmar foa ver Ters
%'? How are physical activities helpful for children with special needs
(CWSN)?
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Answer: 28/0R =Advantages of physical activities for children with
Special needs:

1) Reduced level of anxiety, stress and depression: Physical activities
may help in reducing the level of anxiety, stress and depression of children
with disabilities.

2) Improved social interaction: Physical activities provide ample
opportunities for improving the social interaction among children with
special needs. Social relations are developed during involvement in
physical activities.

3) Better emotional and psychological health: Physical activities are
beneficial for children with special needs because such activities improve
psychological and emotional health.

4) Cognitive benefits: Physical activities lead to cognitive skill
improvement in children with disabilities. These activities allow them to
discover and access strengths that cannot be challenged in the classroom
setting.

Some of the additional benefits of physical activities for CWSN are:
(A) There is improvement in muscle strength, coordination and flexibility.

(B) Improve exercise endurance, cardiovascular efficiency and increase life
expectancy.

(C) One experiences better balance, moter skills and body awareness.

(D) Research has shown that physical education programmes can do a
great deal to improve the lifestyle of children with special needs.

(E) Help control obesity.

(F) Improve self-esteem and social skills.

(G) Encourage an active lifestyle.

(H) Promote positive advancements in students with special needs.
(1) Physical activity improves general mood and self-confidence.

(J) Help them to develop the skills they need.

(K) There is development of better motor skills and enhanced physical
health that helps individual to fight back disability.

(L) Help establish new friendships and channel energy.
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Enumerate various Newton’s Laws of Motion in brief.
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Answer: 29

1. Newton’s First Law of Motion Law of inertia: — This law states that a
body at rest will remain at rest and a body in motion will remain in motion at
the same speed and in the same direction till any external force is applied
on it to change that state. Application in sports. Example: In basketball,
players on the court must keep in mind about dribbling because the ball will



continue to bounce for some time if they lose control. If the ball bounces
too far away from the player, his or her team can lose possession.

2. Newton’s Second Law of Motion: This law states that the
acceleration of an object is directly proportional to the force producing it
and inversely proportional to its mass. Application in sports: Runners
struggle while stopping at the finish line because it requires a very sudden
change in motion (Shot-put throw).

F=mxa [Where F=Force , m =(Mass) , a= (acceleration)]

3. Newton’s Third Law of Motion: This law states that to every action,
there is always an equal and opposite reaction. Application in
sports: While swimming, the swimmer pushes the water backwards using
his hands and thus attains a forward push due to an equal and opposite
reaction from the water.

There are many different types of forces in action in football. Newton
developed the Three Laws of Motion and all are applicable in football.

A. The Law of Inertia tells us that the football will remain at rest unless
someone or something moves it by a specific force. Once the ball leaves
the quarterback's hands, the first law tells us that if there are no other
forces on the ball, the ball would continue to travel in the same direction
and with the same speed until other forces affect its flight.

B.The second Law of Motion states that force on an object is equal to the
mass of the object multiplied by its acceleration. If we apply this law to a
football, it tells us that the amount that the ball accelerates depends on the
force applied by the quarterback and the mass of the ball.

F=mxa
Where F=Force , m =(Mass) , a= (acceleration)

C. The Third Law of Motion states that for every force applied there is an
equal and opposite reaction force. An illustration of this might be when a
player is trying to catch a football from a very high kick. This slows down
the ball so the player can catch the football and bring it to rest.

[S1YdT (OR)]
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What do you mean by Diabetes? Discuss the procedure, benefits and
Contraindications of Bhungasana.
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Answer 29/OR : Diabetes:- Diabetes is a serious condition where your
blood glucose level is too high. It can happen when your body doesn't
produce enough insulin or the insulin it produces isn't effective. Or, when
your body can't produce any insulin at all. With diabetes, your body either
doesn't make enough insulin or can't use it as well as it should.
Diabetes is a chronic (long-lasting) health condition that affects how
your body turns food into energy. Your body breaks down most of the
food you eat into sugar (glucose) and releases it into your
bloodstream.

Bhujangasana:

The meaning of Bhujang is cobra and asana means yoga pose.
Bhujangasana is the stretching yoga exercise of the front torso and the
spine. Bhujangasana is the final stage when the cobra is ready to attack its
prey by raising its hood; hence the name is cobra pose.

Procedure:

Lie down on the stomach by keeping legs together.

Put palms besides shoulder and the head should rest on the ground.

With inhaling raise head up to navel region and try to see the roof.

Maintain the position till 10 to 60 seconds with steadily inhaling and
exhaling.

Come to the original position slowly with deep exhalation.

Advantages:




WN P

4.

5
6
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It helps to strengthen up the spine and relieves backache.

Helps in improving the efficiency of the kidneys.

It is good for digestion. It gives a good massage to the organs of abdominal
region such as stomach, pancreas, liver and gallbladder.

It is helpful in treating of many digestion relation conditions such as
constipation, indigestion, etc.

It is beneficial against slipped disc or sciatica.

It regulates thyroid gland thus helps to maintain good health.

It improves lung capacity: The cobra pose helps to expand the chest thus
beneficial for breathing related problems.

UY 30. HEANIR T8 ? 9P fAp &1 fAferay &1 gqufq Hiferg |

Explain various methods of endurance development.

31R:30
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1. ﬁ?‘d’\’ﬂﬁT&'l’UT fafer (Continuous Training Method):
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2. WL‘I’@T&I’W%@ (Interval Training Method):
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Answer: 30

Endurance: It is the ability to resist fatigue." "Endurance is the ability to do
sports movements, with desired quality and speed, under conditions of
fatigue.There are three methods of developing endurance: (a) Continuous
method (b) Interval training method (c) Fartlek training method.

1) Continuous method: This method consists of long distance running
without break or recovery or pause. This method is further divided into
following parts: Slow continuous method and fast continuous method and
Variable pace method.

(a) Slow continuous method: It consists of long distance running slowly
without any break or pause with low intensity. For example: cross country
runs. The heart rate remains between 140 and 160 beats per minute.
Duration is from 30 minutes to 2 hours or even more.

(b) Fast continuous method: In this method intensity is higher but it
requires less time. The duration is up to 20 minutes continuous without any
break. The heart rate reaches 160-180 heats per minute. Fast pace method
Is effective for improving amount of oxygen consumed by the working
muscles, heart and lungs. Example: Aerobics. Variable pace method: It is
a combination of above methods. The activity is done continuously but the
pace is changed. This can be done from 15 minutes to 60 minutes and the



heart rate should remain under 140-180 beats per minute. Example:
Fartlek training.

2) Interval training method: It is widely used for the development of
speed and endurance. This method is based on tire principle "effort and
recovery". This means during training, the recovery of athlete between
specified workouts, some recovery period or interval is given. The pulse
rate increases, blood pressure also increases. The heartbeat ranges from
170 to 180 beats per minute. In 400 metres race. For example, the athlete
runs 300 mts. with maximum speed and 100 metres slow jog with
combination of walk and again gets ready for next repetition.

3) Fartlek training method Fartlek is a Swedish term meaning speed play.
Used for development of Endurance. Blend of continuous training and
interval training. Duration: 45 min, Heartbeat: 140-150 beats/min. This
training method lays emphasis on both the aerobic and anaerobic
systems.In this method, speed is not preplanned so it is left upto the
individual. Self discipline plays a vital role in fartlek training method

3YdT (OR)

URNEUT & SR TAUR 3R gHa & &1 I3 8 ? What is

relationship between load and adaptation during training programme?
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Answer: 30/OR : Load is known as work or exercise that a sports person
performs in a training session. Adaptation is the process of long-term
adjustment to a specific stimulus.

Load: “Training load” is a broad term describing total volume, intensity and
type of physical activity an athlete undertakes during both training and
competition. External load: the physical work performed by an athlete. For
example, distance run, amount of jumps performed, balls thrown. Load is
known as work or exercise that a sports person performs in a training
session. Adaptation: It is the process of long-term adjustment to a specific
stimulus. Recovery: Recovery is to regain energy after workout what was
lost during the activity.

Adaptation: Adaptation is defined as the adjustment of physical and
psychological functional systems to the training load. Adaptation to a
load results in the enhancement of performance capacity. Thus, a
sports person is able to increase his/her performance as a result of
adaptation process. It is the process of long-term adjustment to a specific
stimulus Conditioning is exercising with the goal of increasing your
cardiovascular system's performance. You're still working muscles hard
and it may feel like strength training as your weights still feel 'heavy’,




although you are using much lighter weights during exercises that you
normally would use more.

Example: For example, a beginning weightlifter performs squats with 10
repetitions at 50 pounds. After 2 weeks of lifting this weight, the lifter
notices the 50 pounds feels easier during the lift and afterwards causes
less fatigue. The lifter adds 10 pounds and continues with the newly
established stress of 60 pounds.



